The example of VLAN routing on DSR series

This scenario is VLAN2 has a PC client and VLAN 3 has a PC client, and they can reach both
sides.
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[DSR-1000]
1. VLAN Setting ->add->Name VLAN 2 Name VLAN 3



List of available VLANS

= Name bi1)
[ Default 1
[l Vlan2 2
[l Vian3 3

elete Add

2. VLAN Setting -> Edit -> Port 1 Mode Trunk , VLAN Membership 1,2,3

Port VLANs

Port Name VLAN Membership
[ Port 1 Trunk 1 1,23
[ Port 2 Access 1 1
[ Port 3 Access 1 1
[ Port 4 Access 1 1

[DGS-1500-20] Firmware Version 1.10.001

3.

VLAN ->802.1Q VLAN

802.1Q VLAN Settings . Soegua

Asymmetric VLAN [ Example ] () Enabled (@ Disabled Apply
Total static VLAN entries: 4
# Maximum 4094 entries.

\u"LhN Mame Advertisement Untagged Tagged Forbidden

default Disabled 01,05-20

Delete |

-—————m

Disabled

Delete

4,

VID1 Settings -> Port 1 Untagged - Port 2 & 3 Not Member

 VIDSettngs

WD 1
VLAM Mame |-:ef:3u|t |
Advertisement (T Enabled @ Disabled

# Maximum 20 characters.

---
Untagged GRS @ @ @)

Forbidden DDC‘JOO




5. VID2 Settings -> Port 1 Tagged, Port 3 Untagged

VID Settings

VID 2

VLAM Name \vian2

Advertisement Enabled @ Disabled

# Maximum 20 characters.

| Port _____[SelectAll 01 102 ]03 [04

Untagged All @
Tagged All C)

Forbidden Al

Mot Member All =] @

6. 6.VID3 Settings -> Port 1 Tagged, port 2 Untagged

VID Settings

VID 3

VLAN Name vian3

Advertisement Enabled @ Disabled

# Maximum 20 characters.

| Port ______[SelectAl __[01 02 03 [04 |

LIntagged All @

Tagged All @

Faorbidden All

Mot Member All o @
[TEST]

Both of VLAN PCs can ping each other.

BN Administrator: Windows Command Processor - ping 192.168.2.100 -t .

C:sWindows~Systemd2>ping 172.168.2.188 —t

inging 192.168.2.188 with 32 bhytes of data:
from 122_.168_.2.180: hyte==32 time=1ms TTL=12%7
from 172.168.2.180: hytesz=32 time=1lms TTL=12%7
from 122_.168_.2.180: hyte==32 time<ims TTL=12%7
from 172.168.2.180: hytesz=32 time=1lms TTL=12%7
from 122_.168_.2.180: hyte==32 time<ims TTL=12%7
from 172.168.2.180: hytesz=32 time{ims TTL=12%7
from 122_.168_.2.180: hyte==32 time<ims TTL=12%7
from 172.168.2.180: hytesz=32 time{ims TTL=12%7
from 122_.168_.2.180: hyte==32 time<ims TTL=12%7
from 172.168.2.180: hytesz=32 time{ims TTL=12%7
from 122_.168_.2.180: hyte==32 time<ims TTL=12%7
from 172.168.2.180: hytesz=32 time{ims TTL=12%7
from 122_168_2_100: byte=z=32 time<ims TTL=127
from 1722_.168_.2.180: hytez=32 time=1lms TTL=12%7
from 122_168_2_100: bytes=32 time<lms TTL=127
from 172_.168_.2.180: hytez=32 time<{ims TTL=12%7
from 122_168_2_100: bytes=32 time<lms TTL=127
from 172_.168_.2.180: hytez=32 time<{ims TTL=12%7
from 122_168_2_100: bytes=32 time<lms TTL=127




Bl Administrator: Windows Command Processor - ping 192.168.3.100 -t |ﬂkﬁ

Microsoft Windows [Uersion 6.1_76011
Copyright <c? 288? Microsoft Corporation. All rights reserved.

C:sUWindows“System3I2*ping 172.168.3.16880 —t

Pinging 122.168.3.1AA with 32 hytes of data:z
Reply from 192.168.3.1688: bhytes=32 time<ims TTL=127
Reply from 192_.168.3.1688: bytez=32 time<ims TTL=127

Reply from 192.168.3.188: bhytes=32 time=1ms TTL=127
Reply from 192.168.3.16008: bhytez=32 time<ims TTL=127
Reply from 192.168.3.188: bhytes=32 time=1ms TTL=127
Reply from 192.168.3.16068: bhytez=32 time<ims TTL=127
Reply from 192_.168.3.1688: bytesz=32 time=1mz TTL=127
Reply from 192.168.3.1688: bhytes=32 time<ims TTL=127
Reply from 192_.168.3.1688: bhytez=32 time<ims TTL=127
Reply from 192.168.3.188: bhytes=32 time<ims TTL=127

END



